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QUESTION 1

What does a structured node contain? (Choose two) 

A. edges 

B. states 

C. nodes 

D. lifelines 

E. classes 

F. messages 

Correct Answer: AC 

 

QUESTION 2

Which list contains only connectable elements? 

A. port and connector end 

B. behavior, port and property 

C. connector end, port and part 

D. property, port, and parameter 

E. behavior, connector end, and port 

Correct Answer: D 

 

QUESTION 3

What does the history of a state represent? 

A. most recent active configuration of its substates 

B. most recent transition that was taken into the state 

C. most recent transition that was taken out of the state 

D. number of times that the state has been active before 

Correct Answer: A 

 

QUESTION 4
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Where is an interaction constraint placed? 

A. always at the top of an interaction 

B. directly outside the combined fragment 

C. above the first event within an interaction operand 

D. either on the top of an operand or at the bottom of an operand 

Correct Answer: C 

 

QUESTION 5

In the exhibit, what is true about Mpar? 

A. Every trace contains all three messages. 

B. Sending p must always precede sending q. 

C. Receiving p must always precede receiving q. 

D. There are legal traces that do not contain message q. 

Correct Answer: A 
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